रजि.नं. : ई-६९, अहमदनगर



## श्री साईबाबा संस्थान विश्वस्तव्यवस्था, शिडीं

शिर्डि : पोष्ट : शिर्डि - ४२३ १०९, ता. राहाता, जि. अहमदन्तगर, महाराष्ट्र (भारत). दरध्वनी : +९१-२४२३-२५८ ५०० फॅक्स : +९१-२४२३-२५८ ७७०, टेलिग्राम : साईनाथ, शिर्डी.

जा.नं.एसएसएसटी/बांधकाम/2300/२०२२

Galian:- 1 0 SEP 2022

प्रती.

विषय: श्री साईबाबा भक्तनिवासस्थान (५०० रुम) शेजारील वाहनविभागाकडे जाणा-या रस्त्याचे पुर्वेकडील बाजूचे वापरात नसलेले सार्वजनिक प्रसाधनगृहाचे नूतनीकरण करणेकामी कोटेशन देणेबाबत.

श्री साईबाबा भक्तनिवासस्थान (५०० हम) शेजारील चाहनिवभागाकडे जाणा-या रस्त्याचे पुर्वेकडील बाजूचे वापरात नसलेले सार्वजिनक प्रसाधनगृहाचे नूतनीकरणासाठी कोटेशन मागिवण्यात आले आहेत. त्याबाबतचा तपिशल दर्शविणारी कोटेशन मागिणी सूंचना (Notice Inviting Quotation) सोबत जोडली आहे. कामाबाबतची माहिती संस्थानचे बांधकाम विभागात उपलब्ध आहे. तरी उपरोक्त प्रमाणे कामासाठी दराचे सिलबंद कोटेशन त्यरीत देण्याचे करावे हि विनंती.

(बी.डी.दाभाडे) कार्यकारी अभियंता,

श्री साईबाबा संस्थान विश्वस्तव्यवस्था, शिर्डी

सोबत - कोटेशन मागणी सूचना (Notice Inviting Quotation)

To,

Sub: Notice Inviting Quotation for Proposed Vehicle Dept. Office by Renovating Existing General Toilet Unit at S.No.109, Shirdi (Saibaba Bhakta niwas-500 Room East side) for Shri Saibaba Sansthan Trust, Shirdi.

Dear Sir,

Sealed Percentage rate quotations are invited for the following work at Shirdi, subject to the terms and conditions mentioned below,

	Bill of Quantities:  Description	Quantity	Unit	Rate	Amount
Sr.No.	Providing second class Burnt Brick masonry with	0.7245	Cum.	8933	6471.67
1	conventional/ I.S. type bricks in cement mortar 1:6 in				-
	superstructure including striking joints, raking out				
	joints, watering and scaffolding etc. Complete (890)			074.7	2107.54
2	Dismantling brick masonry in lime or cement mortar	.5.67	Cum.	371.7	2107.54
	and stacking the materials as directed with all leads,				
	lifts etc.	18.9	Sqm.	383.5	7248.15
3	Providing internal cement plaster 12mm thick in single coat in cement mortar 1:4 without neeru finish	10.5	Oq	000.0	
	to concrete or brick surfaces, in all positions including	<b>.</b>	]		
	scaffolding and curing etc. complete.+ Providing				•
	neeru finish to plastered surfaces in all positions				
	including scaffolding and curing etc.				
	complete.(956,964)	2.25	Sqm.	383.5	862.88
4	Providing sand faced plaster externally in cement		Sqiii.	300.0	002.00
	mortar using approved screened sand, in all positions including base coat of 15 mm thick in cement mortar				
]	1:4 using waterproofing compound at 1Kilogramper				
	cement bag curing the same for not less than 2 days				
	and keeping the surface of the base coat rough to				
	receive the sand faced treatment 6 to 8 mm thick in	1			
	cement mortar 1:4 finishing the surface by taking				
	out grains and curing for fourteen days			İ	
	scaffolding etc.complete.(961)	75.25	Sqm.	1901	143048.75
5	Providing and laying Vitrified MATT finish having decorative type of size 600 millimeter x 600		Oq.	1001	
	millimeter of 8 to 10 millimeter thickness (on a				
	existing flooring) with bonding chemical and				
	confirming to IS 156222006 (Group Bla) of approved	,			
ĺ	make shade and pattern for flooring in required	1			
	position laid on a bed of bonding chemical filling	1			
	joints curing and cleaning etc .complete (1044) (Tile				
1	Basic Rate- 938 per Sqm.)			l	

Sr.No.	Description	Quantity	Unit	Rate	Amount
6	Providing and applying washable oil-bound distemper of approved colour and shade to old and new surfaces in two coats including scaffolding, preparing the surfaces. (excluding the primer coat.) etc. complete. (1107,1110,1088)	324	Sqm.	50.74	16439.76
7	Providing and applying two coats of flat oil paint of approved colour to the old structural steel work and iron work previously painted in building including scaffolding, if necessary, cleaning and preparing the surface (excluding primer coat) etc. complete.(1077)	4.50	Sqm.	94.4	424.80
8	Providing and applying two coats of textured synthetic paint of approved shade and quality and one coat of primer before applying textured paint including scaffolding if necessary preparing surface by thoroughly cleaning oil, grease, dirt and other materials as required, etc. complete.	165.00	Sqm.	174.6	28815.60
9	Excavation for foundation in earth, soil of all types, sand, gravel and soft murum, including removing the excavated material up to a distance of 50 m. beyond the building area and stacking and spreading as directed, dewatering, preparing the bed for the foundation and necessary back filling, ramming, watering including shoring and strutting etc. complete. (Lift upto 3.00 m.) By Manual Means(718)	15.00	Cum.	273.8	4106.40
10	Providing dry/ trap/ granite/ quartzite/ gneiss rubble stone soling 15 cm to 20 cm thick including hand packing and compacting etc. complete.	15.00	Cum.	1527	22903.80
11	Providing and fixing heavy duty inter locking concrete Coloured paving blocks of 60 mm thickness of having a strength of 300 Kilogram/Sq.cm. of approved quality and shape on a bed of crushed sand of 25 to 30 mm thick including skirting joints and cleaning etc. complete	100	Sqm.	1062	106200.00
	Providing and fixing solid core flush door shutter in single leaf 32 mm thick decorative type of exterior grade as per detailed drawings approved face veneers 3 mm thick on both faces or as directed, all necessary beads, mouldings and lipping, wrought iron hold fasts, chromium plated fixtures and fastenings, with brass mortise lock, chromium plated handles on both sides, and finishing with French Polish etc. complete.(1200) - Incl. Providing and fixing100mmx75mm RCC M40 door frame with painting etc complete	5.67	Sqm.	3776	21409.92

<b>Sr.No.</b> 13	Description	Quantity	Unit	Rate	Amount
	Removing all urinal, pans or wash hand basins with	2	Unit	1180	<del></del>
	I refile including disconnecting the capiton, and	_	O i iii	1100	2360.00
	1 Supply Connections, removing the same carefully and 1			]	1
	directed including the serviceable materials as and where		-		
	directed including throwing the uncontinents		}		
4	materials outside etc complete(1562)			1	
14	Providing and erecting chain link fencing 1.6 M.	30	Rmt.	2721	91630 40
	Height Willi G.I. Chain link of size for y for many of	•	1	-2121	81632.40
	gauge thick and fixed 75 mm above ground level on				
	vortical M.O. Aligles of 40 x 40 x 6 mm size including 1				
,	excavating pits for foundation and embedded in C.C.			i .	
1	block of 1:4:8 mix of size 450 x 450.x 670 mm. at			1	
- 1	1.75 M. c/c with iron bar 16mm dia as hold fast		1		
	including welding link with nuts and botts and barrier and botts and barrier and botts and barrier and barrier and botts and barrier and b			İ	
	with nuts and bolts and horizontal M.S. Angles at top		ĺ	†	
- 1	and bottom of 25 x 25 x 5 mm size and vertical M.S. flat 35 x 5 mm and 25 x 5 mm horizontal including		į		
1	cross support of 40 x 40 x 6 mm angles both side at			1 1	
1	every corner or bend embedded in concrete blocks of		j	[	
	1:4:8 of size 450 x 450 x 670 mm including 3 coats of		İ	[	
	oil painting etc. complete.				
5		·			ļ
	Kilogram/Square Metre of various	3.84	Sqm.	3579	13743.13
	detailed diawings without hot din continue : 1				
	fixtures and fastenings and 3 coats of oil painting etc				
	Providing and fixing colour coated Zincalume (R)			j	
[ ]	AZ150 ( min 150 gms/sq.mt. total on each side )	10.95	Sqm.	1505	16474.28
1.1	Monied Sheeks for rooting the feed meterial :-	ı	* }	1	13.1.1.23
, ,	indication ed out of nominal 0.45 mm Dage Metal	-	.		
, ,	mickiess ( DIVII ) (U.5 mm TCT ) Hi strongth start	ľ	1	.	j
1 '	'''' '''''''''''''''''''''''''''''''''	- 1	*		
, , ,	oated with Aluminium-/inc alloy (55% olympinium-	1	1		ĺ
	YET // AUTO 1.0% SHICOM WITH COLODDONE / E.	1			1
, , ,	tool quality Subel durable notivector point and the	ļ		l	
,	'O' gaino pignicini. The naint chall have a 1-1-1	j		ŀ	
1 9	odding trickliess of nominal 35 tim comprising of	-			,
'''	orimial 20 util exterior coat on ton surface and	1	1		
st w sc ce ar m	Virginal IV UM reverse coat on back surface. During	- 1	1	}	1
	leet shall have nom, 950-1050 mm offertive and				
	ider and nonlinal 25-30 mm deen ribe with author	1	l	ľ	
	ludie iluliilu III IRE IIVE nan at nominol 100 oco	ł			
	inter to certifer. The end rin shall be decised at			}	1
	id capillary groove, and return log The feed			1	İ
	aterial should have coil manufacturers product	}		ļ	1
wi	tails marked a regular interval. Including fasteners	ļ			
CO	th min. fastened with min. 25 um Zinc-Tin alloy	. [			1
ļ	ated, Hex head, self-drilling screw etc. complete. eight of profile 4.52 Kilogram/Square Metre)(1172)		1	ļ	
	Metre)(1172)	[	1	1	1

Sr.No.	Description	Quantity	Unit	Rate	Amount
17	Providing and fixing in position. (as per I.S.1868 / 1982) Aluminium sliding window of two tracks with rectangular pipe having overall dimension 63.50 x 38.10 x 1.02 mm at weight 0.547 Kilogram/One Running Metre. and window frame bottom track section 61.85 x 31.75 x 1.20 mm at weight 0.695 Kilogram/One Running Metre. Top and side track section 61.85 x 31.75 x 1.30 mm at weight 0.659 Kilogram/One Running Metre. The shutter should be of bearing bottom 40 x 18 x 1.25 mm at weight 0.417 Kilogram/One Running Metre. Inter locking section 40 x 18 x 1.10 mm at weight 0.469 Kilogram/One Running Metre. And handle section 40 x 18 x 1.25 mm at weight 0.417 Kilogram/One Running Metre. and top section 40 x 18 x 1.25 mm at weight 0.417 Kilogram/Running metre. As per detailed drawings and as directed by Engineer in charge with all necessary Aluminium sections fixtures and fastenings such as roller bearing in nylon casting and self locking catch fitted in vertical section of shutter including 5 mm thick plain glass with all required screws and nuts etc, complete. With powder coating without box	3.24	Sqm.	5740	18596.04
	Total Rs.				492845.11
	Percentage above/Below				
	Total Rs.				

## B) Terms and Conditions:

- 1. The above rates shall be inclusive of GST, material, labour, transport etc. complete.
- 2. The bidder shall furnish the copy of GST Registration.
- 3. The rates quoted shall be firm & no escalation of rates will be entertained till completion of work after issue of work order.
- 4. Site: Shri Saibaba Bhakta niwas-500 Room Area) Shirdi.
- 5. Defects Liability period will be for 03 months for above mentioned work.
- 6. Quantities in BOQ are approximate and may vary according to the requirement. Bill will be paid as per the measurement of work executed.
- 7. No advance payment will be given against the work order. Bill will be paid after submission of R. A. / Final Bill and as per the actual quantity executed on site.
- 8. The date of commencement shall be 10 days from date of issue of work order.
- 9. The time for completion shall be 30 days from the date of commencement after issue of work order.
- 10. Material shall be strictly used as per the specifications, with prior approval of Sansthan.
- 11. Electricity required for the work shall be made available at one point by Sansthan.
- 12. 5% Security Deposit will be recovered from the bills. Which will be returned after 03 months of DLP.
- 13. The bidder is bound by the Contract Labour (Regulation & Abolition) Act, 1970 and rules framed there under. The bidder shall furnish copy of EPF registration. The bidder shall deposit the amount of employer's contribution of EPF and furnish the copies of challans.
- 14. Validity of quotation 90 days from last date for submission of sealed quotation and to be extended if required.

- 15. Liquidated Damages The Liquidated damages to be recovered will be Rs.500/- per delayed day. The total amount of Liquidated damages / Penalty to be paid under the provisions of this clause shall not exceed five percent (5%) of the total Contract amount.
- 16. The bidders are requested to submit their Bank details (RTGS) along with the quotation document.
  - 17. You are informed that there will be no negotiations, so you are requested to submit the final lowest
- 18. The quotation shall be written on a letterhead of your firm and shall be submitted in a sealed cover superscribing as "Quotation for Vehicle Dept. Office by Renovating Existing General Toilet Unit at S.No.109, Shirdi for Shri Salbaba Sansthan Trust, Shirdi". The reference no. & date of this NIQ shall be mentioned on the envelope. It shall be addressed to Chief Executive Officer, Shri Saibaba Sansthan Trust, Shirdi, Tal.- Rahata, Dist.- Ahmednagar.

19. Your quotation should reach at our Shirdi Office on or before 12 / 09 /2022

Shri Saibaba Sansthan Trust, Shirdi reserves the right to reject any or all quotations without assigning any reasons therefor.

Thanking you.

Yours Sincerely,

(B.D. Dabhade) **Executive Engineer**,

Shri Saibaba Sansthan Trust, Shirdi.